COMPARATIVE STATEMENT AND PURCHASE RECOMMENDATION / PROPOSAL

Supplying and Fixing of Furniture & Fixtures for Establishment of an Advanced Molecular Genetics and Genomics Diseases Research and Treatment Centre at Ojha Campus, Dow University Of Health Sciences

I.F.B / N.I.T No. DUHS/DP/2021/117/118 Dated 07 January 2020 (Tender Ref. No. No. DUHS/DP/2021/118)

TECHNICAL BIDS / PROPOSALS OPENED ON 28 JANUARY 2021 AND FINANCIAL BIDS / PROPOSALS OPENED ON 29 MARCH 2021

1	Item		Qt	-	Name of Bidder	Country	Unit Price	Unit Value
	No.	Name of Furniture / Fixture	יש		wante of bidder	of Origin	on DDP Basis	on DDP Basis
		WORKING TABLES / LAB. BENCHES						
5		Table size 10'-10" x 2'-6" x 3'-0" (L x W x H)	5	No.	Brisk Services Co.	Pakistan	217,610.00	1,088,050.00
1		Table size 15'-0" x 2'-6" x 3-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	294,540.00	294,540.00
		Table size 5'-5" x 2.6 x 3-0" (L x W x H)	3	No.	Brisk Services Co.	Pakistan	93,300.00	279,900.00
1	1.4	Table size 12'-9" x 2'-6" x 3-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	271,580.00	271,580.00
		Table size 12'-10" x 2'-6" x 3-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	271,580.00	271,580.00
		Table size 19'-1" x 2'-6" x 3-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	378,420.00	378,420.00
		Table size 10'-0" x 2'-6" x 3-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	206,850.00	206,850.00
1	1.8	Table size 7'-6" x 2'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	147,750.00	147,750.00
		Table size 15'-3" x 2'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	297,590.00	297,590.00
		Table size 9'-10" x 2'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	206,370.00	206,370.00
1	1.11	Table size 14'-9" x 3'-4" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	359,170.00	359,170.00
		Table size 10'-0" x 3'-0" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	228,620.00	228,620.00
1	1.13	Table size 5'-0" x 2'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	87,680.00	87,680.00
1	1.14	Table size 20'-6" x 3'-0" x 3'-0" (with pp sink) (L x W x H)	1	No.	Brisk Services Co.	Pakistan	484,320.00	484,320.00
		Table size 11'-7" x 3'-0" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	267,830.00	267,830.00
	1.16	Table size 9'-4" x 2'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	193,800.00	193,800.00
	1.17	Table size 9'-2" x 2'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	192,830.00	192,830.00
	1.18	Table size: 9'-4" x 2'-6" x 3'-0" (L x W x H) (without reagent rack)	1	No.	Brisk Services Co.	Pakistan	179,880.00	179,880.00
		Table size: 20'-6" x 2'-6" x 3'-0" (L x W x H) (without reagent rack)	2	No.	Brisk Services Co.	Pakistan	378,060.00	756,120.00
V	2	PP SINK	8	No.	Brisk Services Co.	Pakistan	14,990.00	119,920.00
	3	ISLAND TABLES (CENTRE TABLES)	2	No.	Brisk Services Co.	Pakistan	242,010.00	484,020.00
	A	VIBRATION FREE WORK BENCHES		_				
	4.1	Table Size: 11'-7" x 3'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	316,240.00	316,240.00
	4.2	Table Size: 8'-0" x 3'-6" x 3'-0" (L x W x H)	2	No.	Brisk Services Co.	Pakistan	217,730.00	435,460.00
	4.3	Table Size: 15'-10" x 3'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	431,540.00	431,540.00
	4.4	Table Size: 7'-0" x 3'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	190,520.00	190,520.00
	4.5	Table size 10'-0" x 3'-6" x 3'-0" (L x W x H)	1	No.	Brisk Services Co.	Pakistan	272,170.00	272,170.00
	5	RECEPTION COUNTER	1	No.	Brisk Services Co.	Pakistan	250,190.00	250,190.00

Prof. Muhammad Asif Qureshi (Co-opted Member) Additional Director, DDR&RL Dow University of Health Science

Director Planning & Development Dow University of Health Sciences

Mr. Pir Muzaffar Ali Shah (Co-opted Member) Director Planning & Development Dow University of Health Sciences S. SHAFQAT HUSSAIN Director Procurement Procurement Directorate Dow University of Health Sciences Karachi

Mr. Syed Shafqat Hussain (Member / Secretary) Director Procurement Dow University of Health Sciences

Mr. Javaid Riaz (Member) Director (Projects), HEJ Research Institute of Chemistry University of Karachi PROJECT OFFICE

International Center for Chemical & Biological Sciences H.E.J. Rest arch Institute of Chemistry Dr. Pany+ani Center for Molecular Medicine & Drug Research University of Karachi. PROF DR. KARTAR DAWANI Pro Vice Chancellor Cow University of Health Sciences Karachi

Prof. Dr. Kartar Dawani (Chairman) Pro-Vice Chancellor Dow University of Health Sciences

43

en 1

COMPARATIVE STATEMENT AND PURCHASE RECOMMENDATION / PROPOSAL

Supplying and Fixing of Furniture & Fixtures for Establishment of an Advanced Molecular Genetics and Genomics Diseases Research and Treatment Centre at Ojha Campus, Dow University Of Health Sciences

I.F.B / N.I.T No. DUHS/DP/2021/117/118 Dated 07 January 2020 (Tender Ref. No. No. DUHS/DP/2021/118)

TECHNICAL BIDS / PROPOSALS OPENED ON 28 JANUARY 2021 AND FINANCIAL BIDS / PROPOSALS OPENED ON 29 MARCH 2021

Item No.	Name of Furniture / Fixture	Qty.	Qty. Name of Bidder		Unit Price on DDP Basis	Unit Value on DDP Basis
	COMPUTER WORKSTATION FOR STAFF					
	Size : 5'-0" x 2'-0" x 2'-6" (For Bioinformatic suite)	1 No.	Brisk Services Co.	Pakistan	56,210.00	56,210.00
	Size : 4'-6" x 2'-0" x 2'-6" (For Bioinformatic suite)	6 No.	Brisk Services Co.	Pakistan	51,940.00	311,640.00
6.3	Size : 4'-0" x 2'-0" x 2'-6" (For Faculty Room 4 plus unit)	2 No.	Brisk Services Co.	Pakistan	47,350.00	94,700.00
	Size 4'-0" x 2'-0" x 2'-6" (for manager room)	1 No.	Brisk Services Co.	Pakistan	47,350.00	47,350.00
6.5	Size 3'-0" x 2'-0" x 2'-6" (for seminar and board room)	2 No.	Brisk Services Co.	Pakistan	47,350.00	94,700.00
x	BOARD ROOM CONFERENCE TABLES	T No.	Brisk Services Co.	Pakistan	245,730.00	245,730.00
8	BOARD ROOM CONFERENCE CHAIRS	14 No.	Brisk Services Co.	Pakistan	22,960.00	321,440.00
8	EXECUTIVE OFFICE TABLE	1 No.	Brisk Services Co.	Pakistan	111,540.00	111,540.00
10	REVOLVING CHAIR HIGH BACK	3 No.	Brisk Services Co.	Pakistan	22,340.00	67,020.00
11	SOFA DOUBLE SEATED	5 No.	Brisk Services Co.	Pakistan	37,980.00	189,900.00
12	SOFA SINGLE SEATED	10 No.	Brisk Services Co.	Pakistan	18,990.00	189,900.00
13	CENTRE TABLES (DIRECTOR ROOM)	X No.	Brisk Services Co.	Pakistan	22,960.00	22,960.00
<i>1</i> 4	SIDE TABLE (Faculty Room)	A No.	Brisk Services Co.	Pakistan	14,520.00	58,080.00
15	SEMINAR ROOM CHAIRS	\$0 No.	Brisk Services Co.	Pakistan	23,330.00	1,399,800.00
10	REVOLVING CHAIR LOW BACK FOR STAFF	-50 No.	Brisk Services Co.	Pakistan	9,930.00	496,500.00
17	LABORATORY STOOLS WITHOUT ARMS	40 No.	Brisk Services Co.	Pakistan	14,340.00	573,600.00
18	LABORATORY STOOL WITH ARMS	_30 No.	Brisk Services Co.	Pakistan	16,380.00	491,400.00
19	VERTICAL VANISHING BLINDS	-420 Sft.	Brisk Services Co.	Pakistan	310.00	130,200.00
20	METAL LOCKERS	20 No.	Brisk Services Co.	Pakistan	13,920.00	278,400.00
21	SAMPLE TROLLEY	3 No.	Brisk Services Co.	Pakistan	60,660.00	181,980.00
22	MS RACK (for student/staff bags)	3 No.	Brisk Services Co.	Pakistan	120,600.00	361,800.00

Prof. Muhammad Asif Qureshi (Co-opted Member) Additional Director, DDR&RL Dow University of Health Science Director Planning & Development Dow University of Health Sciences

Mr. Pir Muzaffar Ali Shah (Co-opted Member) Director Planning & Development Dow University of Health Sciences S. SHAFQAT HUSSAIN Director Procurement Procurement Directorate Downiversity of Health Sciences

Mr. Syed Shafqat Hussain (Member / Secretary) Director Procurement Dow University of Health Sciences

Mr. Javaid Riaz (Member) Director (Projects), HEJ Research Institute of Chemistry University of Karachi

PROJECT OFFICE

International Center for Chemical & Biological Sciences H Srch Institute of Chemistry Dr. Forger Medicine & Drug Research University of Karachi.

PATTE DR. KARTAR DAWAN the Wee Chancellor University of Health Sciences . Karachi

Prof. Dr. Kartar Dawani (Chairman) Pro-Vice Chancellor Dow University of Health Sciences

COMPARATIVE STATEMENT AND PURCHASE RECOMMENDATION / PROPOSAL

Supplying and Fixing of Furniture & Fixtures for Establishment of an Advanced Molecular Genetics and Genomics Diseases Research and Treatment Centre at Ojha Campus, Dow University Of Health Sciences

I.F.B / N.I.T No. DUHS/DP/2021/117/118 Dated 07 January 2020 (Tender Ref. No. No. DUHS/DP/2021/118)

TECHNICAL BIDS / PROPOSALS OPENED ON 28 JANUARY 2021 AND FINANCIAL BIDS / PROPOSALS OPENED ON 29 MARCH 2021

Item No.		Qt	у.	Name of Bidder	Country of Origin	Unit Price on DDP Basis	Unit Value on DDP Basis
	CABINET IN OFFICE (Wall mounted front center glass)	20'	No.	Brisk Services Co.	Pakistan	21,050.00	421,000.00
24	HANGING CABINET IN LAB (WOODEN)	40	No.	Brisk Services Co.	Pakistan	7,450.00	298,000.00
25	CABINETS IN OFFICES	60	Sft.	Brisk Services Co.	Pakistan	1,860.00	111,600.00
26	SHELVES FOR STORAGE (library shelves)	1080	Sft.	Brisk Services Co.	Pakistan	1,970.00	2,127,600.00
21	PASS BOX (Cabinet for samples movement)	A	No.	Brisk Services Co.	Pakistan	202,660.00	810,640.00
28	STAINLESS STEEL LADDER	- 3	No.	Brisk Services Co.	Pakistan	117,900.00	353,700.00
	WHITE BOARD WITH STAND	7	No.	Brisk Services Co.	Pakistan	11,110.00	77,770.00
	TOTAL PACKAGE VALUE IN PAK R	JPEES	SON	DDP BASIS			18,618,100.00

Findings / Remarks / Recommendations:

The Bid submitted by Brisk Services Co., Karachi is approved and recommended to purchase being the best evaluated responsive bid @ PKR 18,618,100.00 on DDP basis.

Prof. Muhammad Asif Qureshi (Co-opted Member) Additional Director, DDR&RL Dow University of Health Science



Mr. Pir Muzaffar Ali Shah (Co-opted Member) Director Planning & Development Dow University of Health Sciences S. SHAFQAT HUSSAIN Director Procurement Procurement Directorate Drw University of Health Sciences Karachi

Mr. Syed Shafqat Hussain (Member / Secretary) Director Procurement Dow University of Health Sciences

Mr Javaid Riaz (Member) Director (Projects), HEJ Research Institute of Chemistry University of Karachi

PROJECT OFFICE International Center for Chemical & Biological Sciences H.E.J. Research Institute of Chemistry Dr. Panjwani Center for Molecular Medicine & Drug Research University of Karachi.

PROF. DR. RARTAR DOIVANI Pro Vice Chance on University of Herach Sciences

Prof. Dr. Kartar Dawani (Chairman) Pro-Vice Chancellor Dow University of Health Sciences

CERTIFICATE

This is to certify that the prices are comparable to the market rates and budget estimates in respect of single technically qualified bids received for the "Supplying & Fixing of Furniture & Fixture for Establishment of an Advanced Molecular Genetics and Genomics Diseases Research and Treatment Centre at Dow University of Health Sciences, Karachi" in response to IFB / NIT No. DUHS/DP/2021/117/118 dated 07th January, 2021. For which Technical Bids opened on 28 January 2021 and Financial Bids opened on 29 March 2021.

1.	Prof. Dr. Kartar Dawani (Chairman) Pro-Vice Chancellor Dow University of Health Sciences, Karachi	Dow University of Hear Annual Stratch
2.	Mr. Javaid Riaz (Member) Director (Projects), HEJ Research Institute of Chemistry University of Karachi	PROJECT OFFICE International Center for Chemical & Biological Sciences International Center for Chemical & Biological Sciences International Center for Chemistry HEA. Rest arch Institute of Chemistry
3.	Mr. Syed Shafqat Hussain (Member / Secretary) Director Procurement Dow University of Health Sciences	Dr. Panjwani Center for Molecular Medicine & Drug Research Dir. Panjwani Center for Molecular Medicine & Drug Research Director Procurement Procurement Directorate Dow University of Health Sciences Karachi
4.	Mr. Pir Muzaffar Ali Shah (Co-opted Member) Director Planning & Development Dow University of Health Sciences	Director Planning & Development Dow University of Health Sciences
5.	Prof. Muhammad Asif Qureshi (Co-opted Member) Additional Director, DDR&RL Dow University of Health Sciences	Prot. Dr. Muhammad Asif Qureshi WBBS (Dow), PhD (UK), MA (IR) Professor of Pathology Dow International Medical College Dow University of Health Sciences, Karachi